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B4 A8 50:0012529 g0 5% 20 5

(B ) 104 % — 4 BASTT = TG R | B o fBiE?
(A)OH NO! (B)MAYDAY MAYDAY MAYDAY (C)PANPAN PANPAN PANPAN (D)PAN PAN MEDICAL

B 442 50:0012530 g0 5% &0 5
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(B ) 105." DISREGARD" - @ ¢ 3;;& S
(A)# ?,,g)f\ - (B)%E‘lﬁ"‘—km;}‘:rlh BixifE (C)Fj it amFrv
B4 k855:0012031 450 2% B 5
(B ) 106, % inAsdnm "RE-SQUAWK 1015", % J&3%:
(M) i dlT 5 - Taw(ldent)de B)etsiA a8 £k#F (Ohd R &S
%1015 (D)4 B $5-58C
Fohe48%5:0012032 422:0 ¥ % B % (R20170926)
(CH 10737 BRTEE, B o &7
Mr 3 ~4 (B)éf*lijﬂ*lm (CUTC (D) p & & ¥ p= &
B4 k855 :0012033 %50 2% B 5
(D ) 108, F F|¥R— e & 5 "Permission not granted" :
(AWILCO (B)NOT APPROVED (C)NEVER (D)NEGATIVE
F4e82%.:0012534 s .0 2% B %
(C ) 109."SSR" o @ feen > & 5
(A)Single System Receiver (B)Sector Safety Range (C)Secondary Surveillance
Radar

B e 48%5:0012530 450 3 B 5
(C ) 110, 238 F P EB/ T HBT600, £4p 5 ¢
(A) “T* Epapin (B)éng %7&‘»%‘*’% OaJmT 4 (D) “T" & Em
B b2 85:0012536 4220 5 R 4
(B ) 111, % B A "ALL STATIONS, STEPHENVILLE RADAR, STOP TRANSMITTING MAYDAY" 3t i P,

3%
(DF e % T EmEE BERTL#EGr 8 ?f.%}%iﬁ'ﬁ‘i‘iﬁﬂii EN(OL-12
pLE TATE ¥ - X R g

F4e82%0:0012537 A0 ¥k B 2
(B ) 12 #7354 5118.0 to 136. 975 MHzhm& s 7 A B AL
(AMUHF & (B)VHF &£ (C)SHF & (D)HF M
F4e%85.:0012038 450 225 R . %
(B ) 113, % #7448 %, "DECIMAL" i& | #BL* 37 & 4k ?
(D3 ehidgspy o (B3 v (C)‘” S AR BT RE B G
v
F4eX85:0012039 d5e 0 2% R . %
(B ) 114, ﬁ*“%% ot Fad &8 R g p g %
D2 F2hw B)FARLBLER* g 24 (OF0 PR Saal o I LT
R
B4 485.:0012040 f5 2.0 2% R . %

(B ) 115, "CHEROKEE XY-ABC" s v 55¥ 4L f§ £ 5 :
(A)CHEROKEE XY-BC (B)CHEROKEE BC (C)XY-BC (D)ABC

B4 42 50:0012541 3ge:0 5% &0 5
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(B )16 FHIAFsnz BT I PdHdpr § @& * Wjkeg ?
(A)GIVE-UP TAKE OFF (B)STOP IMMEDIATELY (C)ABORT TAKE OFF
Jo 448 50:0012542 Agke 0 35 R0 5
(C ) 17 g B i Lt ol 5L fm BFF AR 0y 7
(D77 (B) iz BPARPFZHELEAT L (OFF B BRTELFEZFS
B2 {87 Bk
Jo 448 50:0012543 Agke 0 35 R0 5

(B ) 118."READABILITY 2" %7 #iE&F ¢
(MErERTEFE 522 (B EROG (OFSgarie s gipk (D5

B4 k855:0012044 f5 .0 ¥ % B o7
(D ) 119, et & + @A T PAL Frepwded 3 50 %5
(A)G-ABCD RADIO CHECK (B)STEPHENVILLE TOWER, G-ABCD HOW DO YOU READ 118.7

(C)STEPHENVILLE TOWER, G-ABCD READABILITY CHECK, 118.7 (D)STEPHENVILLE TOWER,
G-ABCD RADIO CHECK, 118.7

B4 k855 :0012045 420 ¥ % B oV
(c ) 120, % # A A& 4" DISTRESS TRAFFIC ENDED" st 4 & & % -
(A& 23Rendnz B d b Pl (B)& 2 - adny B #HF Y -
© “ff % 'T-é'-i‘%ﬁ'i",ért, PRI ¥ S BTG
B b %8%5:0012046 4220 ¥4 B : ¥
(B ) 121, %% BALF 7 KFLI00™ % 2 FL80#7% Jf e R id & :
(A)DESCENDING TO FL80 (B)LEAVING FL100 DESCENDING TO FL80 (C)DOWN TO FL80

B b %8%5:0012047 42200 ¥4 B : ¥
(¢ ) 122."READABILITY 5" # 7 # & & F & :
(D g (B A ar (O 224 a7 (D)sprjzs
B4 %8%5:0012048 4220 ¥4 B : ¥
(A D 123 FFERER T "H"5HR, L5
(DIFEpFRFED 23 pE (B)IFERFFEpER PN (O)FERFF 5 > 324 pF
D F eFzpilp B
B b %8%5:0012049 4220 ¥4 B o7
(B ) 124.% ¢ #/R & ix"listen out on a frequency" ¥, ¢ * i jiviE k 4 77?2
(A)CONTACT (B)MONITOR (C)TRY (D)REPORT
F4e82%0:0012550 A0 ¥ % B %
(p ) 125.13,500 ErRepa ML UL F 2 @7
(A)ONE THREE THOUSAND FIVE HUNDRED FEET (B)THIRTEEN THOUSAND FIVE HUNDRED FEET
(C)ONE THREE THOUSAND FIVE ZERO ZERO FEET

F4e82%0:0012551 A0 2% B 2
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(c ) 126."MONITOR" - #enz & 5 @°?
OEFSES S NOIESE LS s S ENOIE S E Rt SO RS
FEFEPARFE R

B b %8%5:0012052 4220 ¥4 B oV

(B ) 127. % x| "STANDBY ON 118.9 FOR TOWER" fs ed- iv & :
(DFIHEF118. 916 2 i o g4 (B)#IPEF118.918, F F¥ L g 4li B
(ORI ATHESFEFE L ¥ IR E g s P pFE g4

R 4e48%.:00125503 %50 ¥k B %
(¢ ) 128, % R iR453,500F R L& & & fue, RehERTEA T F € 4
(A)HEADING 045 AT THREE THOUSAND FIVE HUNDRED (B)HEADING 225 AT THRITY FIVE

HUNDRED (COHEADING 225 AT THREE THOUSAND FIVE HUNDRED (D)SOUTHWEST HEADING AT
THREE FIVE ZERO ZERO
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(A26) CPLrez i3

BT ATP # £ 108/11/18 ~ 108/11/18 5 { ATHEHL -
0012441, 0012472, 0012503, 0012512, 0012532

B 442 50:0012423 g0 5% &0 5

(B ) 1.A pilot reporting turbulence that momentarily causes slight, erratic changes
in altitude and/or attitude should report it as
(A)light chop (B)light turbulence (C)moderate turbulence

4o B880:0012424 35 #:0 3% B %

(¢ ) 2 When turbulence causes changes in altitude and/or attitude, bur aircraft control
remains positive, that should be reported as
(A)light (B)severe (C)moderate

B4 X8 50:0012425 e 0 sk A2 5

(B ) 3.Turbulence that is encountered above 15000 feet AGL not associated with
cumuliform clouding thunderstorms, should be report as
(A)severe turbulence (B)clear air turbulence (C)convective turbulence

B 448 50:0012426 g0 s &0 5

(B ) 4.The Low Level Wind Shear Alert System (LLWAS) provides wind data and software
process to detect the presence of a
(AMrotating column of air extending from a cumulonimbus cloud (B)change in wind
direction and/or speed within a very short distance above the airport
(C)downward motion of the air associated with continuous winds blowing with an
easterly component due to the rotation of the earth

B 4-3850:0012427 X0 £ 5 R ¢

(A ) 5.The most current en route and destination weather information for an instrument
flight should be obtained from the
(A)AFFS (B)ATIS broadcast (C)Notices to Airmen Publications

B 4-3850:0012428 A w0 £ % B ¢

(¢ ) 6.The Telephone Information Briefing Service (TIBS) provided by AFSSs includes
(A)weather information service on a common frequency(122.0 MHz) (B)recorded
weather briefing service for the local area, usually within 50 miles and route
forecasts (C)continuous recording of meteorological and/or aeronautical
information available by telephone

B4 4250:0012429 350 2% R o ¢

(B ) 17.The Hazardous In-flight Weather Advisory Service (HWAS) is broadcast service
over selected VORs that provides
(A)SIGMETs and AIRMETs at 15 minutes and 45 minutes past the hour for the first
hour after issuance (B)continuous broadcast of in-flight weather advisories
(C)SIGMETs, CONVECTIVE SIGMETs and AIRMETs at 15 minutes and 45 minutes past
the hour



B 4-3850:0012430 Ag 200 £ % B - ¢

(A ) 8. Weather Advisory Broadcasts, including Severe Weather Forecast Alerts (AWW),
Convective SIGMETs, and SIGMETs, are provided by
(A) ARTCCs on all frequencies, except emergency, when any part of the area
described is within 150 miles of the airspace under their jurisdiction (B)AFSSs
on 122.2 MHz and adjacent VORs, when any part of the area described is within
200 miles of the airspace under their jurisdiction (C)selected low-frequency
and/or VOR navigational aids

B 442 50:0012431 g0 5% &0 5

(A ) 9.To obtain a continuous transcribed weather briefing including winds aloft and
route forecasts for a cross-country flight, a pilot could monitor
(A)a TWEB on a low-frequency and/or VOR receiver (B)the regularly scheduled
weather broadcast on a VOR frequency (C)a high-frequency radio receiver tuned
to En Route Flight Advisory Service

B4 4250:0012432 350 2% R o ¢

(¢ ) 10.What type of In-flight Weather Advisories provides an en route pilot with
information regarding the possibility of moderate icing, moderate turbulence,
winds of 30 knots or more at the surface and extensive mountain obscurement?
(A)Convective SIGMETs and SIGMETs (B)Severe Weather Forecast Alerts (AWW) and
SIGMETs (C)AIRMETs and Center Weather Advisories (CWA)

4o 88%.:0012433 s .0 2% B 2

(A ) 11.What single reference contains information regarding a volcanic eruption, that
1s occurring or expected to occur?
(A)In-Flight Weather Advisories (B)Terminal Area Forecasts (TAF) (C)Weather
Depiction Chart

448 50:0012434 35w 0 5% &0 5

(A ) 12.SIGMETs are issued as a warning of weather conditions which are hazardous
(A)to all aircraft (B)particularly to heavy aircraft (C)particularly to light
airplanes

B 448 50:0012435 g0 sk &0 5

( A ) 13.Terminal Aerodrome Forecasts (TAF) are issued how many times a day and cover
what period of time?
(A)Four times daily and are usually valid for a 24 hour period (B)Six times daily
and are usually valid for a 24 hour period including a 4-hour categorical outlook
(C)Four times daily and are valid for 12 hours including a 6-hour categorical
outlook

B 442 50:0012436 g0 2% & 5



(¢ ) 14.What does the contraction VRB in the Terminal Aerodrome Forecast (TAF) mean?
(A)Wind speed is variable throughout the period (B)Cloud base is variable
(C)Wind direction is variable

B4 k8 50:0012438 g0 s A2 5

(A ) 15.To best determine observed weather conditions between weather reporting
stations, the pilot should refer to
(AM)pilot reports (B)Area Forecasts (C)prognostic charts

B4 42 50:0012439 3ge:0 5% &0 5

( ¢ ) 16.Who has the final authority to accept or decline any " land and hold should" (LAHSO
clearance?
(A)66 kts (B)Airplane owner/operator (C)Pilot-in-Command

B4 48 50:0012440 g0 5% R0 5

( A ) 17.When should pilots decline a "land and hold should" (LAHSO) clearance?
(AMWhen it will compromise safety (B)If runway surface is contaminated (C)Only
when the tower controller concurs

Fr 4 A2 50:0012441 30 % B¢ (R20181114)

(A ) 18 What is the minimum visibility and ceiling required for a pilot to receive a
"land and hold short" clearance?
(A)3 statute miles and 1000 feet (B)3 nautical miles and 1000 feet (C)3 statute
miles and 1500 feet

4o B850:0012442 35 x:0 ¥ % B %

(¢ ) 19.How can you determine if another aircraft is on a collision course with your
aircraft
(A)The nose of each aircraft is pointed at the same point in space (B)The other
aircraft will always appear to get larger and closer at a rapid rate (C)There
will be no apparent relative motion between your aircraft and the other aircraft

B4 48 50:0012443 35w 0 5% &R0 5

(A ) 20.What is the general direction of movement of the other aircraft if during a night
flight you observe a steady white light and a rotating red light ahead and at
your altitude? The other aircraft is
(A)headed away from you (B)crossing to your left (C)approaching you head-on

442 50:0012444 e 0 5% &0 5

(A ) 21.To avoid possible wake turbulence from a large jet aircraft that has just landed
prior to your takeoff, at which point on the runway should you plan to become
airborne?

(A)Past the point where the jet touched down (B)At the point where the jet touched
down, or just prior to this point (C)Approximately 500 feet prior to the point
where the jet touched down



B4 k8 50:0012445 e 0 5 20 5

(B ) 22.Choose the correct statement regarding wake turbulence.
(A)Vortex generation begins with the initiation of the takeoff roll (B)The
primary hazard is loss of control because of induced roll (C)The greatest vortex
strength 1s produced when the generating airplane is heavy, clean, and fast

B 442 50:0012446 35w 0 2% & %

(A ) 23.Which procedures should you follow to avoid wake turbulence if a large jet
crosses your course from left to right approximately 1 mile ahead and at your
altitude?

(A)Make sure you are slightly above the path of the jet (B)Slow your airspeed
to VA and maintain altitude and course (C)Make sure you are slightly below the
path of the jet and perpendicular to the course

B 448 50:0012447 3ge 0 2% &0 5

(A ) 24.When landing behind a large aircraft, which procedure should be followed for
vortex avoidance?
(A)Stay above its final approach flight path all the way to touchdown (B)Stay
below and to one side of its final approach flight path (C)Stay well below its
final approach flight path and land at least 2000 feet behind

B 448 50:0012448 g0 2% &0 5

(¢ ) 25.With respect to vortex circulation, which is true?
(AHelicopters generate downwash turbulence, not vortex circulation (B)The
vortex strength i1s greatest when the generating aircraft is flying fast
(C)Vortex circulation generated by helicopters in forward flight trail behind
in a manner similar to wingtip vortices generated by airplanes

B 442 50:0012449 e 0 5% &0 5

(B ) 26.Which is true with respect to vortex circulation?
(AMHelicopters generate downwash turbulence, not vortex circulation (B)The
vortex strength is greatest when the generating aircraft is heavy, clean, and
slow (C)When vortex circulation sinks into ground effect, it tends to dissipate
rapidly and offer little danger

B 448 50:0012450 g0 5% &0 5

(¢ ) 27.While taxing a light, high-wing airplane during strong quartering tailwinds,
the aileron control should be positioned
(Mneutral at all times (B)toward the direction from which the wind is blowing
(C)opposite the direction from which the wind is blowing

B4 X8 50:0012451 30 s 20 5



(¢ ) 28 When taxi during strong quartering tailwinds, which aileron position should be
used?
(A)Neutral (B)Aileron up on the side which the wind is blowing (C)Aileron down
on the side which the wind is blowing

B4 k8 50:0012452 3w 0 s A2 5

(¢ ) 29.With regard to the technique required for a crosswind correction on takeoff,
a pilot should use
(A)aileron pressure into the wind and initiate the lift-off at a normal airspeed
in both tail wheel- and nose wheel-type airplanes (B)right rudder pressure,
alleron pressure into the wind, and higher than normal lift-off airspeed in both
tricycle- and conventional-gear airplanes (C)rudder as required to maintain
directional control, aileron pressure into the wind, and higher than normal
lift-off airspeed in both conventional-and nose wheel-type airplane

B 448 50:0012453 g0 5% &0 5

(B ) 30.A proper crosswind landing on a runway requires that, at the moment of touchdown,
the
(A)direction of motion of the airplane and its lateral axis be perpendicular
to the runway (B)direction of motion of the airplane and its longitudinal axis
be parallel to the runway (C)downwind wing be lowered sufficiently to eliminate
the tendency for the airplane to drift

F4e%250:0012454 %20 % B %
(B ) 31.To determine pressure altitude prior to takeoff, the altimeter should be set
to

(A)the current altimeter setting (B)29. 92" Hg and the altimeter indication noted
(C)the field elevation and the pressure reading in the altimeter setting window
noted

B 448 50:0012455 3w 0 s’ &0 5

(A ) 32.At higher elevation airports the pilot should know that indicated airspeed
(A)will be unchanged, but groundspeed will be faster (B)will be higher, but

groundspeed will be unchanged (C)should be increased to compensate for the
thinner air

4o 82%.:0012456 s .0 2% B %

(B ) 33.If a standard rate of turn is maintained, how long would it take to turn 3607
(A)1 minute (B)2 minutes (C)3 minutes

B 448 50:0012457 g0 2% &0 5

(A ) 34.Which type of approach and landing is recommended during gusty wind conditions?
(A)A power—-on approach and power—on landing (B)A power-off approach and power-on
landing (C)A power-on approach and power-off landing



B4 k8 50:0012458 A0 s &0 5

(A ) 35 .When turbulence is encountered during the approach to a landing, what action
1s recommended and for what primary reason?
(A)Increase the airspeed slightly above normal approach speed to attain more
positive control (B)Decrease the airspeed slightly below normal approach speed
to avoid overstressing the airplane (C)Increase the airspeed slightly above
normal approach speed to penetrate the turbulence as quickly as possible

B 442 50:0012459 3ge:0 5% &0 5

(¢ ) 36.When diverting to an alternate airport because of an emergency, pilots should
(A)rely upon radio as the primary method of navigation (B)climb to a higher
altitude because it will be easier to identify checkpoints (C)apply
rule-of-thumb computations, estimates, and other appropriates shortcuts to
divert to the new course as soon as possible

F4e82%0:0012460 5520 2% B 2

(B ) 31.1If severe turbulence is encountered during flight, the pilot should reduce the
airspeed to
(M)minimum control speed (B)design-maneuvering speed (C)maximum structural
cruising speed

B 442 50:0012461 3ge:0 2% & 5

(¢ ) 38 Which is the best technique for minimizing the wing-load factor when flying in
severe turbulence?
(A)Change power settings, as necessary, to maintain constant airspeed
(B)Control airspeed with power, maintain wings level, and accept variations of
altitude (C)Set power and trim to obtain an airspeed at or below maneuvering
speed, maintain wings level, and accept variations of airspeed and altitude

B 442 50:0012462 35w 0 % &0 5

(B ) 39.A pilot is entering an area where significant clear air turbulence has been
reported. Which action is appropriate upon encountering the first ripple?
(AMMaintain altitude and airspeed (B)Adjust airspeed to that recommended for
rough air (C)Enter a shallow climb or descent at maneuvering speed

B 4-3850:0012463 320 £p% B . ¢

(B ) 40.For night flight operations, the best night vision is achieved when the
(A)pupils of the eyes have become dilated in approximately 10 minutes (B)rods
in the eyes have become adjusted to the darkness in approximately 30 minutes
(C)cones in the eyes have become adjusted to the darkness in approximately 5
minutes

4o B8%0:0012464 35+ :0 ¥k B %



(B ) 41.When operating VFR at night, what is the first indication of flying into
restricted visibility conditions?
(A)Ground lights begin to take on an appearance of being surrounded by a halo
or glow (B)A gradual disappearance of lights on the ground (C)Cockpit lights
begin to take on an appearance of a halo or glow around them

B 442 50:0012465 35w 0 sk & 5

(B ) 42.After experiencing a power plant failure at night, one of the primary
considerations should include
(A)turning off all electrical switches to save battery power for landing
(B)planning the emergency approach and landing to an unlighted portion of an
area (C)maneuvering to, and landing on a lighted highway or road

B 442 50:0012466 35w 0 sk & 5

( A ) 43.When planning for an emergency landing at night, on of the primary considerations
should include
(A)selecting a landing area close to public access, if possible (B)landing
without flaps to ensure a nose-high landing attitude at touchdown (C)turning
off all electrical switches to save battery power for the landing

B 442 50:0012467 25w 0 2 & 5

(A ) 44.When planning for a night cross-country flight, a pilot should check for
(A)availability and status of en route and destination airport lighting systems
(B)red en route course lights (C)location of rotating light beacons

4o 82%.:0012468 s w0 2% B 2

(¢ ) 45.When planning for a night cross-country flight, a pilot should check for the
avallability and status of
(A)all VORs to be used en route (B)airport rotating light beacons (C)destination
airport lighting systems

4o 82%.:0012469 A0 ¥k B 2

(B ) 46.What altimeter setting is required when operating an aircraft at 18000 feet MSL?
(A)Current reported altimeter setting of a station along the route (B)29.92
Inches Hg (C)Altimeter setting at the departure or destination airport

4o 8250:0012470 s e 0 ¥k B2

(¢ ) 47.After an ATC clearance has been obtained, a pilot may not deviate from that
clearance, unless the pilot
(A)requests an amended clearance (B)is operating VFR on top (C)receives an
amended clearance or has an emergency

B4 X8 50:0012471 e 0 5% 20 5



(A ) 48 A pilot performing a published instrument approach is not authorized to perform
a procedure turn when
(Mreceiving a radar vector to a final approach course or fix (B)maneuvering
at minimum safe altitudes (C)maneuvering at radar vectoring altitudes

T 4AE 5000012472 350 2% B0 % (R20181115)

(A ) 49.Pilots are not authorized to land an aircraft from an instrument approach unless
the
(A)flight visibility is at, or exceeds the visibility prescribed in the approach
procedure being used (B)flight visibility and ceiling are at, or exceeds the
minimums prescribed in the approach being used (C)visual approach slope
indicator and runway references are distinctly visible to the pilot

B4 48 50:0012473 g0 s A 5

(B ) 50.The pilot in command of an aircraft operated under IFR, in controlled airspace,
shall report as soon as practical to ATC when
(A)passing FL 180 (B)passing each designated reporting point, to include time
and altitude (C)changing control facilities

442 50:0012474 3ge 0 % R0 5

(B ) 51.The pilot in command of an aircraft operated under IFR, in controlled airspace,
shall report as soon as practical to ATC when
(A)climbing or descending to assigned altitudes (B)experiencing any
malfunctions of navigational, approach, or communications equipment, occurring
in flight (C)requested to contact a new controlling facility

4o 82%0:0012475 A0 ¥k B2

(B ) 52 What person is directly responsible for the final authority as to the operation
of the airplane?
(A)Certificate holder (B)Pilot in command (C)Airplane owner/operator

B4 k8 50:0012476 g0 s AR 5

(B ) 53.The visibility entry in a Terminal Aerodrome Forecasts (TAF) of P6SM implies
that the prevailing visibility is expected to be greater than
(A)6 nautical miles (B)6 statute miles (C)6 kilometers

B4 X8 500012477 g0 s R0 5

(A ) 54, In-Flight Aviation Weather Advisories include what type of information?
(A)Forecasts for potentially hazardous flying conditions for en route aircraft
(B)States and geographic areas with reported ceilings and visibilities below
VFR minimums (C)IFR conditions, turbulence, and icing within a valid period for
the listed states

4o B8%0:0012478 A0 ¥k B2



(¢ ) 55.What wind conditions would you anticipate when squalls are reported at your
destination?
(A)Rapid variations in wind speed of 15 knots or more between peaks and lulls
(B)Peaks gusts of at least 35 knots combined with a change in wind direction
of 30? or more (C)Sudden increases in wind speed of at least 16 knots to a
sustained speed of 22 knots or more for at least 1 minute

B 448 50:0012479 e 0 2k A 5

(B ) 56.What values are used for Winds Aloft Forecasts?
(A)True direction and MPH (B)True direction and knots (C)Magnetic direction and
knots

B 4-38%50:0012480 A2 w0 £p% B - ¢

(¢ ) 57.Which forecast provides specific information concerning expected sky cover,
cloud tops, visibility, weather, and obstructions to vision in a route format?
(A)Area Forecast (B)Terminal Area Forecasts (TAF) (C)Transcribed Weather
Broadcast (TWEB)

B 4-3850:0012483 A &0 £ % B . ¢

(A ) 58 Which incident would require that the nearest NTSB field office be notified
immediately?
(A)In flight fire (B)Ground fire resulting in fire equipment dispatch (C)Fire
of the primary aircraft while in a hanger which results in damage to other
property of more than $25000

4o B880:0012484 %5 &0 ¥k B %
(¢ ) 59.1f you make a miastake in transmission, you should use the phrase:
(A)Sorry (B)I say again (C)Correction (D)Correct
4o B8%0:0012485 %50 ¥ % B %
(p ) 60.The suffix in the callsign of an aerodrome control service would be:
(A)CONTROL (B)APRON (C)GROUND (D)TOWER
4o 88%.:0012486 35w .0 ¥ % B %

(B ) 61 "WILCO" means:
(A)I have received all your last transmission (B)I understand your message and
[ will comply with it (C)Permission for proposed action granted

B4 X8 50:0012487 g0 ¥ R0 5

(B ) 62 The frequency to transmit on first for an urgency call is the:
(A)frequency of the nearest radar station (B)frequency in use now
(C)international distress frequency

B 4-3850:0012488 A w0 £p% B . ¢



( A ) 63.The action that you carry out in response to the instruction "SQUAWK IDENT" is
to:
(A)press the special identification (Ident) button on the control panel (B)reset
the numbers on the control panel (C)move the switch on the control unit to the
ALT position

B 4-3850:0012489 X w0 £ % B . ¢

(¢ ) 64, If a controller would like to say to you "Pass me the following information",
he would use the expression:
(A)READBACK (B)REQUEST (C)REPORT (D)SAY AGAIN

B 442 50:0012490 g0 5% &0 5

(B ) 65. When unable to establish 2-way communications, you should prefix your message
with:
(A)RADIO CHECK (B)TRANSIMTTING BLIND (C)PAN PAN PAN (D)DO YOU READ?

4o d85.:0012491 %520 ¥ % B %
(A ) 66.A setting of 7700 on the transpoder indicates:
(A)DISTRESS (B)AIRCRAFT IS LOST (C)RADIO FAILURE (D)HI-JACKING
4o d8%0:0012492 %520 ¥ % B %

(A ) 67.The condition that defines the state of Urgency is that:
(A)there is concern about the safety of the aircraft or a person on board but
it does not require immediate assistance (B)the aircraft is threatened by
serious or imminent danger and requires immediate assistance (C)there is an
emergency on the ground

B 4-3850:0012493 Ag w0 £p% B ¢

(¢ ) 68 When making a blind transmission , you should:
(A)transmit each word twice (B)repeat the message on 121.5 MHz (C)transmit the
message twice (D)wait for visual signal

B 4-3850:0012494 X =0 £ % B ¢

( A ) 69.The phrase used by ATC to impose radio silence during an emergency situation
1s:
(A)STOP TRANSMITTING MAYDAY OUT (B)MAYDAY MAYDAY MAYDAY OUT (C)DISTRESS TRAFFIC
IN PROGRESS

B4 48 50:0012495 g0 2% &0 5

(p ) 70.Setting a Squawk of 7500 indicates that you:
(A)have an emergency (B)have a radio failure (C)are not receiving a radar service
(D)are being Hi-jacked

4o 82%.:0012496 s .0 2% B 2

(A ) 71.The theoretical VHF range that you can obtain at FL50 is:
(A)85nm (B)120nm (C)71nm (D)9nm

B4 28 50:0012497 g0 2% A0 5
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(¢ ) 72.The frequency on which ATIS can be found is
(A)Discrete VHF only (B)VOR frequency only (C)Discrete VHF or VOR frequency
(D)any ATC frequency

B 4-3850:0012498 A2 w0 £p% B ¢

(B ) 73.A controller would say "BREAK BREAK" when he:
(A)wishes to create a pause in a long message to an aircraft (B)is in a busy
environment and has communications with more than one aircraft (C)is instructing
an aircraft to abandon take-off (D)wishes to cancel a message already
transmitted to an aircraft

B 4-3850:0012499 A &0 £p% B ¢

(A ) 7. If you are unable to contact a station on a designated frequency, you should:
(A)try another approiate frequency (B)transmit the words twice (C)start
transmitting blind

F4e82%2:0012500 %520 2% B 2

(A ) 7.An aircraft at FL100 over flat terrain on a clear day will have a maximum VHF

communication range of about:
(A)120nm (B)100nm (C)150nm (D)75nm

B b 8255:0012501 4220 5 &P

(¢ ) 76.Clearance limit is defined as:
(A)the height below which you will hit the first obstacle (B)the flight level
to which an aircraft is granted ATC clearance (C)the point to which aircraft
is granted ATC clearance (D)the time at which the ATC clearance expires

B 442 50:0012502 350 2% &0 5

(A ) 71.1f youare flying an aircraft without a transponder then reply to an instruction
to "SQUAWK IDENT" should be:
(ADNEGATIVE TRANSPONDER (B)NO SQUAWK (C)SQUAWK NOT POSSIBLE (D)NO SQUAWK

Fo 442 50:0012503 ke 0 ¥ % B¢ (R20151202)

(A ) 78.0n hearing an Urgency message, a pilot should:
(A)maintain a listening watch to see if you can assist in any way (B)acknowledge
the message straight away (C)change frequency because a radio silence will be
1mposed

B 448 50:0012504 g0 sk A2 5

(¢ ) 79.The term "CORRECTION" is used when:
(A)the message to be deleted (B)the readback of a message is correct (C)an error
has been made in the transmission and correct version 1is.

B 442 50:0012505 A0 s’ &0 5

(A ) 80.The definition of the phrase "STANDBY" 1is:
(Mwait and I will call you (B)hold your present position (C)consider the
transmission is not sent

11



B 442 50:00125060 e :0 s &0 5

( A ) 81.The phrases proceeding an URGENCY message should be:
(A)PanPan PanPan PanPan (B)Urgency Urgency Urgency (C)Mayday Mayday Mayday

B 442 50:0012507 g0 s &0 5

(A ) 82 The best signals for VHF communications are obtained when the position of the
aircraft is at:
(AMhigh altitude and in the vicinity of the aerodrome (B)high altitude at long
range (C)low altitude and short range

B 442 50:0012508 20 sk & 5

(B ) 83.SAR stands for:
(A)Single Aircraft Radio (B)Search And Rescue (C)Secondary Airborne Radar

R 4e%8550:0012509 %20 2% B %
(A ) 84.The callsign FASTAIR 1234 can be abbreviated to:
(A)No abbreviation (B)FASTAIR 34 (C)1234 (D)FOXTROT34
o 4e5250:0012510 220 222 B %

(A ) 8.You would use the phrase "WORDS TWICE" when you
(A)want each word repeat twice (B)make a blind transmission (C)want the message
to be repeated

425500012511 %820 2% B %
(¢ ) 86.When asking for a repeat of a message, you should say:
(A)WORDS TWICE (B)REPEAT MESSAGE (C)SAY AGAIN (D)SPEAK SLOWER
4o d8%.:0012512 %0 ¥ % 2 ¢ (R20151202)

(B ) 87.A "BLIND TRANSMISSION" is a transmission:
(A)from an aircraft that is directly overhead the ground station (B)from one
station to another when there is no communication but where is believed that
the caller station is able to receive the transmission (C)where the transmission
1s unable to see the receiver

4o 82%0:0012513 A0 2% B 2

(¢ ) 88.The term "CANCEL" means:
(A)consider the message is not sent (B)your flight has been cancelled by your
operator (C)annul the previously transmitted clearance

B4 X8 50:0012514 3w 0 s 20 5

(¢ ) 89.The condition that defines the state of an aircraft in imminent danger is:
(ADMAYDAY (B)URGENCY (C)DISTRESS (D)PAN PAN

B 422 50:0012515 Age:0 s’ & 5

(¢ ) 90, The message "READABILITY3" means:
(A)Readable now and then (B)Readble (C)Readable but with difficulty
(D)Unreadable

12



B4 X8 50:0012516 e 0 s’ &0 5

(B ) 91.When do you look for visual signals after a communications failure?
(A)After landing (B)Joining the circuit at a controlled airfield (C)Overhead
an aerodrome

B4 A2 500012517 g0 5% &0 5

(B ) 92.What information does VOLMET broadcast on VHF?
(A)SIGMETs (B)METARs for various aerodromes (C)TAFs for specific aerodromes

B4e4250:0012518 A0 s’ &0 5

(A ) 93 1f you are told to "SQUAWK 1250", you should
(A)set code 1250 on SSR transponder (mode A) (B)change to frequency 125.0 MHz
(C)say "TESTING 1250"

B4 42 50:0012519 20 s’ &0 %

(B ) 94.The message "CHECK" to an aircraft means that you should:
(A)confirm that you received and understood the last message (B)examine a system
or procedure (C)stay where you are

B 442 50:0012520 g0 5% &0 5

(A ) 95.The full range of VHF frequencies used for communication is:
(A)118.0 to 136.975 MHz (B)108.0 to 139.5 MHz (C)3 to 30 MHz (D)88 to 108 MHz

B 442 50:0012521 Age:0 sk &0 %

(¢ ) 96.0n what frequency do you transmit your first MAYDAY call?
(A)121.5 MHz (B)The frequency of the nearest radar station (C)The frequency in
use (D)The frequency of the nearest FIS

4o B8%0:0012522 %520 ¥ % B %

(B ) 97.The priority for an urgency call 1is:
(A)lower than for a Pan Pan medical (B)higher than for everything else but less
than for distress (C)dependant upon the length of the queue

B4 k8 50:0012523 g0 sk 20 5

(B ) 98.The Squawk code for radio failure is :
(A)T7700 (B)7600 (C)7500

4o B8%0:0012524 35 +:0 % B %

(B ) 99.The word for the expression "Have I correctly received the following" 1is:
(A)ACKNOWLEDGE (B)CONFIRM (C)VERIFY (D)ARE U SURE

B4 X8 50:0012525 Age:0 s A2 5

(¢ ) 100, The term "VERIFY" means:
(Mconfrim your last transmission (B)identify yourself (C)check and confirm
with originator

B4 X8 50:0012526 e 0 s A2 5

13



(B ) 101, If you want to backtrack then your transmission should be:
(A)REPORTING BACKTRACK (B)REQUEST BACKTRACK (C)REQUEST VACATE RUNWAY
4o B8 50:0012527 Ra .0 ¥ % B ¥

( B ) 102. How does ATC report RVR?
(A)In feet and inches (B)In meters at touchdown, mid-point and stop-end of runway
(C)In kilometers along the final approach (D)In nautical miles along with runway

B4 k8 50:0012528 g0 s &0 5

(B ) 103.How do you report a level of 3500feet?
(A)THREE FIVE ZERO FEET (B)THREE THOUSND FIVE HUNDRED FEET (C)THIRTY FIVE
HUNDRED FEET

B 442 50:0012529 e 0 s &0 5

(B ) 104, The call from an aircraft in imminent danger is:
(A)OH NO! (B)MAYDAY MAYDAY MAYDAY (C)PANPAN PANPAN PANPAN (D)PAN PAN MEDICAL

B 442 50:0012530 250 2% & %

(B ) 105, The term" DISREGARD" means:
(A)Pay no attention to what [ say (B)Consider the last message as not sent
(C)Cancel the last clearance

F4e82%.:0012531 f5e:0 2% B 2

( B ) 106. When told "RE-SQUAWK 1015", you should:
(A)press the identification (Ident) button on the control panel (B)reselect the

digits on the transponder mode A (C)set 1015 on your altimeter (D)switch on mode
C

Johe 32500012532 40 ¥ % &% (R20170926)

(¢ ) 107.The time given in aeronautical communications 1is:
(A)in minutes only (B)Local mean time (C)UTC (D)daylight saving time

B4 X8 50:0012533 A0 sk 20 5

(p ) 108. Word for the expression"Permission not granted" is:
(AWILCO (B)NOT APPROVED (C)NEVER (D)NEGATIVE

4o 82%.:0012534 s .0 2% B 2

(¢ ) 109, The abbreviation SSR stands for:
(A)Single System Receiver (B)Sector Safety Range (C)Secondary Surveillance
Radar

B4 X8 50:0012535 A0 sk A2 5

(¢ ) 110, The selection of the code 7600 on a transponder indicates:
(A)distress (B)hi-jacking (C)loss of comms (D)urgency

F4e82%.:0012536 A0 2% B 2
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(B ) 111.0n hearing the message "ALL STATIONS, STEPHENVILLE RADAR, STOP TRANSMITTING
MAYDAY", you should:
(A)assist with the emergency (B)not interfere with the distress traffic (C)leave
the frequency (D)re-transmitting the message

b k8500012037 420 ¥ 5 B ;4
(B ) 112.The band for frequencies between 118.0 to 136.975 MHz is known as the:
(A)UHF band (B)VHF band (C)SHF band (D)HF band
b k8500012038 42 0 ¥ 5 B : 5

(B ) 113.When referring to a frequency the word "DECIMAL" can be dropped:
(A)only during a readback of a frequency (B)Never (C)only after satisfactory
communications have been established

B4 48 50:0012539 g0 sk 20 5

(B ) 114.The information in a message from ATC that has to be readback includes:
(AM)weather, wind (B)QNH, runway in use (C)everything except hesitation sounds

4o 88%.:0012540 s 2.0 ¥k B %
( B ) 115, The abbreviation for the callsign "CHEROKEE XY-ABC" would be:
(A)CHEROKEE XY-BC (B)CHEROKEE BC (C)XY-BC (D)ABC
R4e48%.:0012541 %520 ¥k B %

( B ) 116. The instruction from ATC to an aircraft to abondon its take off includes the

phrase:
(A)GIVE-UP TAKE OFF (B)STOP IMMEDIATELY (C)ABORT TAKE OFF

4o B8%0:0012542 %5+ :0 ¥k B %

( ¢ ) 117. The name or suffix on the callsign of an aeronautical station may be omitted:
(A)Never (B)provided that the aircraft is in visual contact with the aerodrome
(C)only after satisfactory communications have been established and providing
there will be no confusion

4o 82%0:0012543 A0 2% B 2

(B ) 118."Readability 2" means that your transmission is :
(A)two way communications have been established (B)readable now and then
(C)readable but with difficulty (D)readable

R4 k855:0012044 f2 w0 ¥ % B oV

(p ) 119.The correct call to make asking for radio check on the ground is:
(A)G-ABCD RADIO CHECK (B)STEPHENVILLE TOWER, G-ABCD HOW DO YOU READ 118.7
(C)STEPHENVILLE TOWER, G-ABCD READABILITY CHECK, 118.7 (D)STEPHENVILLE TOWER,
G-ABCD RADIO CHECK, 118.7

B 4-3850:0012545 A &0 £ % B . ¢
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( ¢ ) 120, The ATC message "DISTRESS TRAFFIC ENDED" signifies that:
(A)all aircraft are to end their transmission (B)all aircraft on the frequency
are to change to another frequency (C)normal ATC is resumed after an emergency

F4e%8%.:0012546 A0 ¥ % B ¥
( B ) 121. The readback from an aircraft that is cleared to change level from FL100 to FL80
1S:
(A)DESCENDING TO FL80 (B)LEAVING FL100 DESCENDING TO FL80 (C)DOWN TO FL80

B 4-3850:0012547 A0 £p 5 R ¢

(¢ ) 122.Readability 5 means that your transmission is :
(A)Readable now and then (B)Readable (C)Perfectly readable (D)Unreadable

B 4-3850:0012548 X w0 £ % B - ¢

( A ) 123.The abbreviation HJ means that the aerodrome is:
(A)open between sunrise and sunset (B)open between sunset and sunrise (C)open
24 hours (D)open during unspecified hours

B 4-3850:0012549 A e:0 £ % B . ¢

( B ) 124. The phrase used by ATC to instruct you listen out on a frequency is:
(A)CONTACT (B)MONITOR (C)TRY (D)REPORT

b k8500012050 420 # 5 B : %
(A ) 125.An altitude of 13,500 feet would be spoken as:

(A)ONE THREE THOUSAND FIVE HUNDRED FEET (B)THIRTEEN THOUSAND FIVE HUNDRED FEET
(C)ONE THREE THOUSAND FIVE ZERO ZERO FEET

4R850 :0012001 450 2% R . %
(¢ ) 126, The definition of the instruction "MONITOR" is:

(A)you are being watched (B)establish communications on frequency... (C)listen
out on frequency--- (D)watch out for visual signals on frequency

B b %8%5:0012052 480 ¥4 B oV

(B ) 127.Your action on receipt of the message "STANDBY ON 118.9 FOR TOWER" is to:
(A)change to freq 118.9 and contact TOWER (B)change to freq 118.9 and wait for
TOWER to initiate communications (C)wait for TOWER to contact you on present
frequency to let you know when they are ready

B 442 50:0012553 A0 sk &0 %

(¢ ) 128.When flying on a SW headind at 3500 feet, you would report your heading and level
as:
(A)HEADING 045 AT THREE THOUSAND FIVE HUNDRED (B)HEADING 225 AT THRITY FIVE
HUNDRED (C)HEADING 225 AT THREE THOUSAND FIVE HUNDRED (D)SOUTHWEST HEADING AT
THREE FIVE ZERO ZERO
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